m — [9800000A040
m S 000
m 19000000600
i 00
" < 0000000060
m CSNEISIICIET 16
b 0 e
— 0000000000
0000006000
N E00000E000
ST BT
OO0 0000
o600 EOCOR
00000000
<000
= [0RE0REERE
<100

€Y)
&)
®

€Y)
&)
®
*
®
€Y)
&)




(

)

(

) ¢ x> )

(O] ( bit s

O Tw

_________________________________________________________________________________________________

30



(

)

(

)

31



<( ) >
O]
Ty s >

32



(

)

(

)

________________________________________________________________________________________________

33



(

(

)

[ 1
D) )
¢ )
) [ ]
() S
) [ ]
() s

34



(O]

)

(

||||||||||||||||||||||||||||||||||||||||||||

)

(

35



(

)

) )

__________________________________________________________________________________

36



(

(

)

)

) )
« )
(Active Double Star)

(O]
Ty S
[ ]
( )
Ty >

37



(

)

1 ) (>

¢ x )
[
() S
( )
[ ]
() S
( ) (d )
(d )
( )

38



(

)

L 1 ) ()
[ ]
( >
[ (O] (
)
(O]
[ (O]
[ (O]
( )
(]
CCO 1)
)Y (Y s
(kg)

_______________________________________________________________________________________________

39



(

)

( =
[ ]
() Seaaae:
Lo
() S
) ) (0)

40



(

(

)

)

( >
- ) ()
T )
Yy >
( ) (
)
CCOT0 )
Ty >

41



(

)

42



(

(

)

)

C
[ ]
() S
1 >
« )
[ ]
() s

43



(

(

)

)

C )
(O]
Ty T
( )
() ()
( )
[ 1 )
C )
(O]

Ty s
<
) !
< |
) i

44



(1)

(@)

(3)

(4)

(5)

(6)

()

()

()

™
—__ | —WW\—
(
Byte
bit




